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. |13x=2]-]3x+2]
. Evaluate lim ————.
x—0 X

17cosx 4rvs0
. Let f(x)=3 sinx . Suppose that f is differentiable on (-x, 7). Find

mx+b if x<0

the constants m and b.
. Let f(x) = (cosx)*. Find f'(x).

. At what points does the curve x’+ )’ =6xy have a horizontal tangent?

. A box with a square base and open top must have a volume of 32,000 cm?. Find the

dimensions of the box that minimize the amount of material used.

. Find the linearization of f(x)=2- J.;Hli dt at x=1.
+t

Suppose that f is continuous, f(0) =0, f(2)=1,f'(x) >0 Vx€R, and
foz f(x)dx = % Find the value of the integral fol f~(y)dy.
2

. Let 4x*-2y*=9.Then d);:
dx

Calculate Ioz x(x2 + 1)3 dx =
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10.Let f(x)=x"+x+1.Then (/) ()=
11. Evaluate J(jn3 e'\l+e'dx =
12. Find lirr(l)(l + sinx)V/*=
X—

13. Evaluate | 1\/5 ax

x2V4—x2

14. Evaluate [ 7% =

1 x3

15. $lim 220X

x-0 X

16. £lim & =

x—-0 X
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xy2
1. Let f(x,y)=4x"
0 if (x,y)=(0,0).

if (x,y) #(0,0),

(a) Show that £ is not continuous at(0,0).

(b) Find £, (x, ).

2. Evaluate the integral fol f01 emax{x®y?} dydx, where max{x?,y%} means the larger

of the numbers x? and y2.



